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THM 348 Service Operations Management
Final Exam Answer Sheet
1. What is an “Ishikawa Chart”? For what purposes this very chart is used? (2 Points)

Ishikawa Chart, also referred to as “Cause and Effect” / “Fishbone” chart / diagram is chart depicting possible root causes for a searched problem. Such a diagram is a structured approach for a team to, through brainstorming, identify, explore and display graphically, in increasing detail, all the possible causes related to a problem in order to discover the root cause(s).

2. What is the purpose of using “Six Sigma”? What steps it encompasses? (3 Points)

The purpose of six sigma is to reduce variation in the process in question to 6 standard deviations from the desirable average / mean of the very process. There are 5 steps encompassed in the six sigma methodology. They are as follows:

a) Define project objectives, internal and external customers.

b) Measure current level of performance.

c) Analyze causes of current problem.

d) Improve: Identify how the process can be improved to eliminate the problems.

e) Control: Develop mechanisms for controlling the improved process.
3. When managing uncertainty, how can firms anticipate customer demand variability problem and, hence, overcome it?  (2 Points)

When managing uncertainty firms can anticipate customer demand variability problem, and, hence overcome it by carefully analyzing market research and past experience with similar products as well as having a stock of semi-finished, yet standardized, goods / products.
4. How companies measure the economic success of a partnership? What factors affect the measurement? (2 Points)

Companies measure the economic success of a partnership through calculation of Profit-per-Partner ratio. The factors that affect this very ratio are as follows:

a) Margin (i.e. Profit / Fees)

b) Productivity (i.e. Value (Fees / Hours) * Utilization (Hours / Staff))

c) Leverage (i.e. Staff / Partners)

5. What are the challenges involved when managing a focused network? (3 Points)

Challenges involved when managing a focused network are as follows:

· Using sophisticated communication tools.

· Maintain control over whole operation.

· Rationalizing and communicating service consistency to all unit managers.

· Need for greater planning when opening a new site (i.e. plan for training, operation manual…).
· Branding the concept.

· Launching a national / international marketing effort.

6. Contrast “Power Distance Index” to “Long-term Orientation Index”. (2 Points)
While “Power Distance Index” refers to the degree of equality, or inequality between people in the country’s society, “Long-term Orientation Index” refers to the degree the society embraces, or does not embrace long-term devotion to traditional, forward thinking values.

7. During the past season, Jeter Resort Hotel did not achieve very high occupancy rates despite a reservation system that was designed to keep the hotel fully booked. Apparently, prospective guests were making reservations that, for one reason or another, they failed to honor. A review of Front-desk records during the current peak period, when the Resort Hotel was fully booked, revealed the record of no-shows as shown in the below table:
	No-shows
	Probability
	Reservations Overbooked
	Cumulative Probability

	
	
	
	

	0
	0.07
	0
	0.00

	1
	0.09
	1
	0.07

	2
	0.11
	2
	0.16

	3
	0.12
	3
	0.27

	4
	0.16
	4
	0.39

	5
	0.14
	5
	0.55

	6
	0.12
	6
	0.69

	7
	0.07
	7
	0.81

	8
	0.06
	8
	0.88

	9
	0.02
	9
	0.94

	10
	0.04
	10
	0.96


Suppose that a vacant room (because of No Show) results in an opportunity loss of $ 60.
a) Calculate the Expected Number of No Show Rooms. (2 Points)
· Expected number of no show rooms = (0.07 * 0) + (0.09 * 1) + (0.11 * 2) + (0.12 * 3) + (0.16 * 4) + (0.14 * 5) + (0.12 * 6) + (0.07 * 7) + (0.06 * 8) + (0.02 * 9) + (0.04 * 10) = 0 + 0.09 + 0.22 + 0.36 + 0.64 + 0.70 + 0.72 + 0.49 + 0.48 + 0.18 + 0.40 = 4.28 rooms.
b) Calculate the Expected Opportunity Loss. (1 Point)

· Expected Opportunity Loss = 4.28 * 60 = $ 256.80.

In order to avoid some of this loss, Jeter Resort Hotel management is considering an overbooking policy. Yet, if a guest holding a reservation is turned away (due to overbooking), other costs would be incurred. Jeter Resort Hotel has made arrangements with a nearby Resort Hotel (Pooh Resort Hotel) to pay for the rooms of guests whom it cannot accommodate. Further, a penalty is associated with the loss of customer goodwill and the impact this has on future business. Management estimates this total loss to be approximately $ 105 per turned out guest.
c) Fill the below Overbooking Loss Table (4 Points)
	
	
	Reservations Overbooked

	No-shows
	Prob.
	0
	1
	2
	3
	4
	5
	6
	7
	8
	9
	10

	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	

	0
	0.07
	$0
	$105
	$210
	$315
	$420
	$525
	$630
	$735
	$840
	$945
	$1,050

	1
	0.09
	$60
	$0
	$105
	$210
	$315
	$420
	$525
	$630
	$735
	$840
	$945

	2
	0.11
	$120
	$60
	$0
	$105
	$210
	$315
	$420
	$525
	$630
	$735
	$840

	3
	0.12
	$180
	$120
	$60
	$0
	$105
	$210
	$315
	$420
	$525
	$630
	$735

	4
	0.16
	$240
	$180
	$120
	$60
	$0
	$105
	$210
	$315
	$420
	$525
	$630

	5
	0.14
	$300
	$240
	$180
	$120
	$60
	$0
	$105
	$210
	$315
	$420
	$525

	6
	0.12
	$360
	$300
	$240
	$180
	$120
	$60
	$0
	$105
	$210
	$315
	$420

	7
	0.07
	$420
	$360
	$300
	$240
	$180
	$120
	$60
	$0
	$105
	$210
	$315

	8
	0.06
	$480
	$420
	$360
	$300
	$240
	$180
	$120
	$60
	$0
	$105
	$210

	9
	0.02
	$540
	$480
	$420
	$360
	$300
	$240
	$180
	$120
	$60
	$0
	$105

	10
	0.04
	$600
	$540
	$480
	$420
	$360
	$300
	$240
	$180
	$120
	$60
	$0

	
	
	
	
	
	
	
	
	
	
	
	
	

	Expected
	-------
	256.80 
	208.35 
	174.75 
	159.30 
	163.65 
	194.40 
	248.25 
	321.90 
	407.10 
	502.20 
	600.60 

	Loss ($)
	
	
	
	
	
	
	
	
	
	
	
	


d) How many rooms shall be overbooked? Why? (2 Points)
According to the above overbooking loss table, 3 rooms shall be overbooked, since, this very scenario yields the least expected loss.
N.B: Your answers to parts a), b) c) & d) shall be rounded to the nearest cent.
8. “Yield Management can best be applied in service companies with high marginal sales costs and low marginal capacity change costs.” Do you agree with this statement? Why? Why not? (2 Points)
No, I don’t agree with the above statement. In fact, yield management is best used when the cost of selling an additional unit of inventory is low, such as the negligible cost of a snack for an airline passenger. On the other hand, the marginal cost of capacity additions shall be high due to the large necessary cost needed for facility investment. 

Good Luck
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